2L, ZOHFOREL, IERSHIZEIbDET 3,
(&) EAEHD 22T 5, HHEIR22—1 =21
EoT, fFEED  t(21, 0.05) =2.080
Wz iz, REEE me, ZHEE 5% EHEX I,
T t(n—1,0.05) Xy =52.3+2.080 X%

—52.3+7.1 &P
@ 2.080 x%_fo)éfﬁ MC 21,/ (M+)2.080 X15.6-MR =
(45.2, 59.4)

FoT, BFmE, ERES%T.2L59.4L DRIZH 3,

v il

45.2 59.4

3) KEEOBEOBILEORMME
BHEFY, FEOES 12, 0, 10 2MEOMEL 5% 388, flilL, 1
SHRETL, OBKHERT, 2E, “olbrhsha, BPEm
(] % M) n=02 0 L LX6G G
0 1

(=p &HK)
13, Z20F FREMBIT 38RO LR
(BREe®) 2L E T,

¥ 72, BAEH T,
e kil F0Xret1Xr,
n

T
=+

fE ¥ a, a, N

i 1 =1 (=P &H<)
P I . 3, 20 %, EAICEYSRROLE
(BEAILE) 2 RLET,
£, ata=N xy, J+4=1
F=PTLEd5, F=et&siTl,
pte=1

T5L, BEERECL,

0= _j;o_p)zao-i_(l_p)zal —— 2, 4 z_al
N ‘/; *ﬁ+q N

k-1
-+

’

=/p? q¢+aq’p



